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l. Find the limits of the ollowing: (20%)

. logx ox"
a. lim o lm —
FETT IS r—em g
c. limxlogx d lm{—F-———=)
x +0 - X I.EI]. A
1
e. hm{l+5)*
I

2. f{x) is a continuous function, (§%)

a. Prove that Exf{sin;}d:r = _LL:(]'I —x)f{sinx)dr
b. Using the r-asult2 obtained from a.. prove that
f,tf{sin Xtar = ﬂﬁf{sinx}df
and find the value of
f,:rsinz xdx

3. Find the differential for the following: (24%)
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4. Find the value of the following integrals: (40%)
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5. Find the maximum and minimum for the following function, assuming that  (8%)
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